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ufesg - 1

Muskaisi 3 7R F Fel () ik @
T B A T g omE W
Ta o Wie A8 % ATEY Rd fHa | 378 @
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Directions for the following 4 (four) items :

Read the following four passages and answer the
items that follow. Your answers to these items should
be based on the passages only.

Passage - 2

Approximately 80 percent of all flowering
plant species are pollinated by animals, including.

Passage - 1

Researchers simulated street lighting on
artificial grassland plots containing pea-aphids,
sap-sucking insects, at night. These were exposed
to two different types of light — a white light
similar to newer commercial LED lights and an
amber light similar to sodium street lamps. The
low intensity amber light was shown to inhibit,
rather than induce, flowering in a wild plant of
the pea family which is a source of food for the
pea-aphids in grasslands. The number of aphids
was also significantly suppressed under the light
treatment due to the limited amount of food
available.

1.

reflects the most critical inference that can

be made from the passage given above ?

(a) Low intensity light has more adverse

effect on the plants as compared to high

intensity light.

(b)  Light pollution can have a permanent

adverse impact on an ecosystem.

()  White light is better for the flowering of
plants as compared to the light of other

colours.

(d)  Proper intensity of light in an ecosystem
is important not only for plants but for

animals too.

BXC-B-GYLI

Which one of the following statements best

birds and mammals, but the main pollinators are
insects. Pollination is responsible for providing
us with a wide variety of food, as well as many
plant-derived medicines. At least one-third of the
depend upon
pollination. Bees are the most dominant taxa

world’s  agricultural crops
when it comes to pollination and they are crucial
to more than four hundred crops. Pollination is
an essential service that is the result of intricate
relationships between plants and animals, and
the reduction or loss of either affects the survival
of both. Effective pollination requires resources,

such as refuges of pristine natural vegetation.

2.  On the basis of the passage given above, the
following assumptions have been made :

1. Sustainable production of India’s cereal
food grains is impossible without the
diversity of pollinating animals.

2. Monoculture of horticultural crops

hampers the survival of insects.

3. Pollinators become scarce in cultivated
areas devoid of natural vegetation.

4.  Diversity in insects induces diversity of
plants.

Which of the above assumptions is/are

valid ?

(a) 1only

(b) 2,3 and 4 only

(¢c) 1and2only

(d) 3 and4only

(3-A)
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dfieg A FEG T W
ey Higdl %1 I HE § Teary] aiadd
% ywrEl W fpu MU temm # sAftrepaw 3
=rad aaE § gfg g ot ant % i
&1 we § w3t T | W Teard! aREdA
F W 8 F TAF Wl W UNE I,
gfumreaEy fus AET § 9@ 98 S 3R
I & i (fee) § FHoemeft, qun
ioora-r wifaa 2 | 39k stfaftw, T59 |
@1 Ted I TRERAT # Iig 7 ¥ | T B,
HHe a9 % fou s gEeEl w e
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frafafiga d & F-a F99 IE® of=dg &
TeT 9T &1 qEH w9 & AT 2 ?

(a) & voag dea w1 fGem
AR (FAEHC-ENE) FY gt
1 T3 HE U GETF 2 |

ThE FY ugfEt srEmER s
FETEEl W Tty i w9 e e
a1 8 |

(b)

earg TREda § S FETEA F1 HE 91
2, Safh @ € @Y 3 W d@he ft =@
21

ey qiEdd % Hrw,  feEEl @
sumofilm aeffae e Siifigmy
TRt e gedt € |

(c)

(d)

4.

ufess - 4

Myshdl gataia g faehHia A (BPA)
& dfyenfadt (=eifeas) TumET S 9a1 T F
o ®9 IR w1 3@ w1 ¥ g%d @ |
IEM WEa H g Un, AygdE 3 ufEdd
sggmIaE & foy iR o= SF T A
BPA % WM & gHI guH H yofim w=w
HifEE & fa¥e & a7 fvsafe desa
& St * fou Sagamfis i it
MY % GII9H &1 3@ fF | 9 s
3R s 39 Wl w9 Tl (I W) &
@ fafdsm & forw BPA enfawrgan (effaafad)
FT 9T T IR AT A, a1 d0AHT TTh
HIfvrEpTd gia + § 7% @ |

39 fede % emur W, frefafied gEumomd
TS TS B -

1. BPA, Sal ® (3 o) yofir fasm =+t
gftafda = gar 2 |

g ¥ BN 9 Wi b ITEE H @
FA # gt i Hiftem-emafiE
ST I9A0T B |

el ygEh %IRRT g
H A w5 foau yofm =W
HIRrERE Higet & ¥ § HE H Fhd! @ |
39 § ¥ HH-H g 7= E 2
a1 3R 2

Fae 2 3N 3

Fad 1 3R 3

1,23 3

(a)
(b)
(c)
(d)

(4-A)
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Crops.
4.  On the basis of the passage gi above, th
3. Which one of the following statements best ¥ e o aeey e
following assumptions have been made :
reflects the crux of the passage given above ?
1. BPA may alter embryonic development
(a) Development of regional climate models in vivo.
helps in  choosing  climate-smart 2. Biochemical and cell-based assays are
agricultural practices. useful in finding out treatments for
pollution-induced diseases.
(b) Heavy dependence on groundwater
resources can be reduced by adopting 3. Embryonic stem cells could serve as a
dry-land cropping systems. model to evaluate the physiological
effects of environmental pollutants.
(©)  Climate changes increase the Sribicality Which of the above assumptions are valid ?
of water resources while simultaneously
threatening it. (a) 1and 2 only
(b) 2 and 3 only
(d) Climate changes cause the farmers to B
adopt unsustainable livelihoods and ; T
risky coping strategies. - (d 1,2and3
BXC-B-GYLI (5-A)

Passage - 3

A study conducted on the impacts of
climate change over the Cauvery basin of
Tamil Nadu using regional climate models
showed an increasing trend for maximum
and minimum temperatures, and a decrease
in the number of rainy days. These climatic
shifts will have an impact on the hydrological
cycles in the region, lead to more run-off and
less recharge, and affect the groundwater
tables. Further, there has been an increase in
the frequency of droughts in the State. This
has driven farmers to increase dependency

on groundwater resources to secure their

Passage - 4

Researchers were able to use stem cells to
gauge the neurotoxic effects of the environmental
pollutant Bisphenol A (BPA). They used a
combination of biochemical and cell-based assays
to examine the gene expression profile during the
differentiation of mouse embryonic stem -cells
upon treatment with BPA, a compound known to
cause heart diseases, diabetes, and
developmental abnormalities in humans. They
were able to detect and measure BPA toxicity
towards the proper specification of primary germ
layers, such as endoderm and ectoderm, and the

establishment of neural progenitor cells.
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Ifg 32019 1 10 & fawfom fman e, & == 9w
@ ?

(a): 1
b)- 3
() 5t

d 9

H©IT 3798125P369 3% 7Y WSH & | 3% Pl
THA RS ?

(a):d
(b) 6
@ 7

d 9

1 S9adl, 2021 ¥ @ &% md f@ Qe w7
Tea (w9u g el #) 80+01m R, el
m=1,23, .., 1008 3R TeIv=Ta SR E@ 2 |
=& gt ofR, 9 2021 F nd T et H T
(¥9u wfa et #), n & el ot wm & form
69 + 0-15n 2 | @ 2021 <t fra fafyr =t 71 31

ol 1 Yo THEHH B ?
217§
20 7§
19 7§
18§

(a)

(b)

(c)

(d)

10.

(6-A)

T B A I Aafawm h Han 3 qaEgEE
o aggett i T send g 12 a9
# gt & Sl | fee T e % gEn
¥ 2021 % JRW | gy hit @€ 50 A
If n a8t F gvEE H JEE P & FEfa
e s R, @ Fafafgs & @ #Ra
Gefiertu, e gRT FIE MY HETE H HiSe Hi
et e 2 2

(a) P=12+50n

(b) P=50+12n

(¢) P=50(2)2n

(d) P=50(2)012

s He #, 60% faendf wra & & 3t farnfd
F1 50% Al & | 3fe wrdr faenfe=i § 30%
werat 8, a1 faeeft faenfdfai & fopaa wfowa
aqTH & ?
(a) 45%
(b) 40%

(c) 30%
(d) 20%

s Hyd A9 fea mn 2, e swim frewda

afit frsspd.11 few o & | IR 3@ A H TE

T §Y W H1 IW A R, o & T qH

9 & §q 924 H gfE A Ta wefd 7 @ | aft

fspst # e R davEE foim w

FHa/aRa fed Ru M s F sgEr

ThETa 2/8, W @ A E §Y ¥ FA aeA

HFgEITEAR |

Fu7: o A, HEna & | @l A,
FR & | T HA, T E |

frey-l: oo e FRfma e a adi |

frspy-11 : $ Aerse fAfvaa ®9 8 91 2 |

fraffega § A ST adt 2 2

(a) el fshd-1

(b) *hae frsd-I1

(¢) Toread.1 3 fssd.11 g1

(@ ¥ frepdg, 7 & i
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5.

7.

BXC-B-GYLI

If 32019 5 divided by 10, then what is the
remainder ?

() R |
(h) 8
ek T

d 9

The number 3798125P369 is divisible by 7.
What is the value of the digit P ?

(a) -1
(b) 6
{e) . ¥

d 9

From January 1, 2021, the price of petrol
(in Rupees per litre) on m'h day of the year is
80 + 0-lm, where m = 1, 2, 3, ..., 100 and
thereafter remains constant. On the other
hand, the price of diesel (in Rupees per litre)
on n*? day of 2021 is 69 + 0-15n for any n. On
which date in the year 2021 are the prices of
these two fuels equal ?

(a) 21% May
() 20" May

(© 19™ May

W o 18™ May

9.

10.

(7-A)

A biology class at high school predicted that a
local population of animals will double in size
every 12 years. The population at the
beginning of the year 2021 was estimated to
be 50 animals. If P represents the population
after n years, then which one of the following
equations represents the model of the class for
the population ?

(a P=12+50n

(b) P=50+12n

(¢) P=50(2)!2n
(d) P=50(2)"12

In a class, 60% of students are from India and
50% of the students are girls. If 30% of the
Indian students are girls, then what
percentage of foreign students are boys ?

(a) 45%

(b) 40%
(¢ 30%
d 20%

A Statement followed by Conclusion-I and
Conclusion-II is given below. You have to take
the Statement to be true even if it seems to be
at variance from the commonly known facts.
Read all Conclusions and then decide which of
the given Conclusion(s) logically follows/follow

from the Statement, disregarding the
commonly known facts.
Statement : Some radios are mobiles. All

mobiles are computers. Some
computers are watches.

Conclusion-I: Certainly some radios are

watches.

Conclusion-II : Certainly some mobiles are

watches.
Which one of the following is correct ?
(a)  Only Conclusion-I
(b)  Only Conclusion-II
(¢) Both Conclusion-I and Conclusion-IT
(d) Neither Conclusion-I nor Conclusion-II
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ufede - 2

Ffy aiitfeafaht & g ° 7' s@umon 2 f6
Hiy witfeafes @ i wplos aifeafas @ &

ufesde -1

I e wre) & e H o, ol
wftrn 3k snfe # i T T 2 sy R
o weh & # T w9 & 9w 9§, Sa
I 93 99 TE B & | Wipfek i H, I I
gaEt Y wH A ], IR % g@ I WfoR
¥ fou Hie Iverey wd #, R fafaw yer &
FaAnEEl (B @ are WifoR) i et STrET
H HEW 20 & | AR woweh uafi ok =wEs
Jrcafirer AT gAY aTel TAET W A 3R &
g&t W PR ¥4 @ S @, @ gfes i gu
TR e § FawfEE @l §gEr ¢ HHd § |
FRA GE-Tear] #, IS gai & AE-9E J=
wfedt % gai & e Ny 31 g # |

11. 399 uieag % omur W, Frafafea qeumomd
g T R
1. Thfae a1 ®, ISR F & T FURH

Sa-fafauar @i it FrE-yuTelt F1 ST HE
afde | W PR el (Rftew), o
Tpfas Aied HI e IaeH, digH-ufa,
lYh- S, q41 YOd I e b ufd
ayearefia (Rfaferere) & wendt 8 | writfeafas
it 4 po ot Sqd’ 78 S B, 3R dws q&i w7
3 I qh T TH0 Bl 2 | FHiY arifeafaeh
1 I 419 o4l B 58 T 8, 7yiq, WH ¥
frpe g% @ft dive al B EEAE @R &
ﬂmaﬁﬁﬁﬁ%mﬁﬁﬁﬁmﬁa’m
2 | 3a% fata, wpfae Sihare &1 39 few
e % fou qun i FfY (i) &
T WE IR g o oft fem wmn @ )
Hy wiferfd ugfal & ogum ok waa &
[y gait 1 v e # |

12. frafafaa w faam $ifse .

iU E (FaT )

1.
et (1 o) & wd § | 2, Foefond (bt
2. 3SR F 3@ F& Ht I "R &, Tl I 3. I Haud
o3 FHF ga Y Sferat TE I T & | 4. fafya Ffe
3. Jafafowar & wew # ufem g& # 5. WE-HEH (Wicfiehes)
PR Y 6. weato F (afi i)
4. I g4 Ml F Ao H FhOH 7 AR
gat &t i 2 | sy % IFER, I9G® # ¥ I FN
S & & B g T A wgferat Ff wifefod & srgpe & wed & 7
(a) Had 1 3R 2 (a) Had 1,4 3N 5
(b) ad 3 (b) *ad 2,3,4 AN 5
(c) had 2 3 4 (¢) *ad 1,2,3 3N 6
(d) ad 1,33 4 ) aet 430 6
BXC-B-GYLI (8-A)
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Directions for the following 4 (four) items :

Read the following four passages and answer the
items that follow. Your answers to these items should
be based on the passages only.

Passage - 1

Fig trees (genus Ficus) are considered

sacred in India, East Asia and Africa and are
common in agricultural and urban landscapes
where other large trees are absent. In natural
forests, fig trees provide food for wildlife when
other resources are scarce and support a high
density and diversity of frugivores (fruit-eating
animals). If frugivorous birds and bats continue
to visit fig trees located in sites with high human
disturbance,
frugivore

sacred fig trees may promote
Under
microclimate, plenty of seedlings of other tree

abundance. favourable

species would grow around fig trees.

Passage - 2

At the heart of agroecology is the idea that
agroecosystems should mimic the biodiversity
levels and functioning of natural ecosystems.
Such agricultural mimics, like their natural
models, can be productive, pest-resistant,
nutrient conserving, and resilient to shocks and
stresses. In ecosystems there is no ‘waste’,
nutrients are recycled indefinitely. Agroecology
aims at closing nutrient loops, i.e., returning all
nutrients that come out of the soil back to the soil
such as through application of farmyard manure.
It also harnesses natural processes to control
pests and build soil fertility i.e., through
intercropping. Agroecological practices include

integrating trees with livestock and crops.

11. On the basis of the passage given above, the
following assumptions have been made :
i Fig trees can often be keystone species
in natural forests.
2.  Fig trees can grow where other large
woody species cannot grow.
3. Sacred trees can have a role in
biodiversity conservation.
4. Fig trees have a role in the seed
dispersal of other tree species.
Which of the above assumptions is/are
valid ?
(a) 1and2only
(b) 3only
(¢) 2and4 only
(d) 1,3and4only
BXC-B-GYLI (9-

12. Consider the following :
1 Cover crops
2.  Fertigation
3.  Hydroponics
4.  Mixed farming
5. Polyculture
6.  Vertical farming
Which of the above farming practices can be
compatible with agroecology, as implied by the
passage ?
(a) 1,4 and 5 only
(b) 2,3,4 and5 only
(¢) 1,2, 3and6 only
(d) 4 and 6 only
A)
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ufteds - 3
T Fad hige H1E & faaw it ey 34
YT BTRT % WY FEA H G ITAT gl
o @ R, afcw sifoe axgelt i awafas g
3R HagAufter AHE IR % @19 oft I gEy w5g
® R | T YRS R, wed WO FYR T
% fomm, TE W s FYR B | ‘e A%
frg” &% A | wew fowl it uw.em.and.
T § dR Hom I (i) it sgfem
YU dh T a%g § S Wiee @ S |
3 & w1 g A g R A 3w (ASR),
Fh STHeT  THHEl H gow #  Afw
frgaraa &M | 3 TEd @ a8 yWifva 9 g%
& 5 3 v @ 7@ F o YeE H g

e (fedte &giet) o & & |

18. 39w ufede &% Imun w wfwfem, ffafea
i ¥ wH-E ®U9 gaifaes Rofas ey &t
qaivw &7 @ Fofar 2 2

(a) I T T gifera 7 £ |

(b) HIFRAT FAM el Fulat wEer gean H
Tiefiear & @ ot # |

(c) oTeT giam gaht H3r fami it avaemar
21

d) FR SenfEh fit adam wgfa, s &
BAR Sfae w1 wwifaa st |

ufess - 4

T, AT, IRETRH IR IE=Sdl
# g | S T R Wifas amarer
HWE W H1 a0 I99 AT & | ety
(Bresia) & fim-fim ww & . =afwma, @q ok
gt w@wenfafu | sod i wer T @ R
IfehTd G6E W@ & Thme UM Hl T F FHH
It B | fohg 39 &9 § 99R % AW 3 gean
gt wra B 9 o 2, St fameet % smEms
TG G STghicTd Bt @ 3R vae gt @ | ufvem
A9 1 T I Ut & fop safmra ey -fafy
% WYHY FAEEE WA § AW gUr agn
oS WA, Weadl IR W G N9 ueh 4
forg/amet geg/gshanr Y <O & vt et o R )
B H oo T & U JT ARETE W W
TR ¥ fAm wwe @ ff @ 2, e
fifeafeft @ 38 Fercas g9E i FAaRe
Bl B 319ar 3@ RN W @ foar wmar @ ek
e sfodeft gt 1 srgufa B # |

14. I ufedg % mum , Frfafe gderomd

AR TS R

1. & @ e safea wrefafy & g3
BT 2, 9 aEe WAty w em T8
WE

2. SAfTa TEeadl § ag-sitafy wfededt Jmmopeit
& wigwia &1 frawor fofn s @ ? |

3. @ren-fafy & & § IR % yaw 4 ghms
T =1 Tl ¢ & |

4. GhMEH UM & &IF & HY A & faQ
A R FEr-wi gwaay gt @ @ |

5. 98 S W@ReY IUEI % HeAH ¥ HEifad
g wrerfafy 8, st @wms M F
fawg e # avqa § SFOR B |

I § | HIA-H qEaaRomd 91 § 2

(a) hae 1 3R 2

(b) haet 3 3N 4

(c) haci 43R5

(d) Pae 1,23M 4

(10-A)

Downloaded from www.cclchapter.com



BXC-B-GYLI

Passage - 3

Computers increasingly deal not just
with abstract data like credit card details
and databases, but also with the real world of
physical | objects and vulnerable human
bodies. A modern car is a computer on
wheels; an aeroplane is a computer on wings.
The arrival of the “Internet of Things” will
see computers baked into everything from
road signs and MRI scanners to prosthetics
and insulin pumps. There is little evidence
that these gadgets will be any more
trustworthy than their desktop counterparts.
Hackers have already proved that they can
take remote control of internet connected

cars and pacei:na.kers.

13. Which one of the following statements best

reflects the most critical inference that can
be made from the passage given above ?

(a) Computers are not completely safe.

(b) Companies producing the software do
not take cyber security seriously.

(c) Stringent data security laws are needed.

(d) The present trend of communication
technologies will affect our lives in
future.

Passage - 4

A social and physical environment riddled
with poverty, inequities, unhygienic and
insanitary conditions generates the risk of
infectious diseases. Hygiene has different levels :
personal, domestic and community hygiene.
There is no doubt that personal cleanliness
brings down the rate of infectious diseases. But
the entry of the market into this domain has
created a false sense of security that gets
conditioned and reinforced by the onslaught of
advertisements. Experience in Western Europe
shows that along with personal hygiene, general
improvements in environmental conditions and
components like clean water, sanitation and food
security have brought down infant/child
death/infection rates considerably. The obsession
with hand hygiene also brings in the persisting
influence of the market on personal health,
overriding or marginalising the negative impact
on ecology and the emergence of resistant germs.

14. On the basis of the passage given above, the

following assumptions have been made :

1. People who are obsessed with personal
hygiene tend to ignore the community
hygiene.

2. Emergence of multi-drug resistant germs
can be prevented by personal cleanliness.

3. Entry of the market in the domain of
hygiene increases the risk of infectious
diseases.

4, Scientific and micro-level interventions
are not sufficient to bring down the
burden of infectious diseases.

5. It is community hygiene implemented
through public health measures that is
really effective in the battle against
infectious diseases.

Which of the above assumptions are valid ?
(a) 1and 2only

(b) 3and 4 only

(c) 4and5only

(d) 1,2 and4only

(11-A)
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15. U $y 9 o mn 2, fowss Iuua fasedn

16.

17.

BXC-B-GYLI

3R Feepd-11 fow e § | sos! 36 How i we
HHAd gL WA HT IW A1 8, WA & q§ aW
Y & F1q qzAt i gfE A gd weftq 7 @ | off
frewei w w@ o qavE@ folr w6
FHE/EAE fead ffu M Fom F sEEn
ahaTa /8, W @ 9 I &9 @ §a azl
figITgmad |

o7 :  Fo fafgal s | $9 el

FHT & | Tt AT 79 7 |

frepy-1: $9 FemiEl R s o § |

A1l - %o fafgat 34 78 off & g & |
Frferfaa # & waa wd 2 2

(a) hae fasHe-I

(b) et fFspd-11

() Toeepd.1 3k fsepd.11 gt

(@ @ fspdg, 7 @ s

Teh 91T 11c § @ @1 & 3R ag g &l 15 m
# F=iE @ firgan 2 | 9% o) 9« ot g fie
¥ THUA B, A 98 QHadt Far§ At 445 Fard
T I AN B | A Il FAE 50 em B
FH 2, q i T8 Ivad ¢ | g H IS FHA
¥ d, Tig fraft v wofia & et 2 2

(a)
(b)
(c)
(@

SO - T

TH qdu § IS auimen (S92 3 H)
=9 & gfdfasl &1 sade o s 2
T ¥ 39 wfafeet 6t TEn fhadt & S e
e AT % qu femrs 777 3§ 2

(a): 18

(b) 14

{c): «15

d 16

19.

20.

(12-A)

700 ¥ 1000 T & YUl I Fetag fhar T
2 | T @ fora quifel ®, 3fel T ATHE 10
27

(a) 6

b) 7

(c) 8

d 9

U qfgen I H AT 12 km Aedt B, R a8
zféqor 1 31T 6 km qU1 3T qTEE qF I I
8 km et # | 319 wuH fag & @ frm faam
R

g gd § 45°F F9 BT W
(b) STR-GH F 45°F HH BT T

(¢) cfturgd # 45° @ Aferes Hor W
ITd H 45° § U BT |

(a)

(d)
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15.

16.

17.

BXC-B-GYLI

A Statement followed by Conclusion-I and
Conclusion-II is given below. You have to take
the Statement to be true even if it seems to be
at variance from the commonly known facts.
Read all Conclusions and then decide which of
the given Conclusion(s) logically follows/follow
from the Statement, disregarding the
commonly known facts.
Statement : Some cats are almirahs. Some
almirahs are chairs. All
chairs are tables.

Certainly some almirahs are
tables.

Conclusion-I :

Conclusion-II : Some cats may not be chairs.
Which one of the following is correct ?

(a) Only Conclusion-I

(b) Only Conclusion-II

(¢) Both Conclusion-I and Conclusion-II

(d) Neither Conclusion-I nor Conclusion-II

A boy plays with a ball and he drops it from a
height of 15 m. Every time the ball hits the
ground, it bounces back to attain a height
4/5th of the previous height. The ball does not
bounce further if the previous height is less
than 50 cm. What is the number of times the
ball hits the ground before the ball stops
bouncing ?

(a) 4

(b) 5
(c) - ©
d 7
Images of consonants of the English alphabet
(Capitals) are observed in a mirror. What is
the number of images of these which do not
look like their original shapes ?

(a) 13

(b) 14

ey, - 1b

d 16

18.

19,

(13-A)

A bank employee drives 10 km towards South
from her house and turns to her left and
drives another 20 km. She again turns left and
drives 40 km, then she turns to her right and
drives for another 5 km. She again turns to
her right and drives another 30 km to reach
her bank where she works. What is the
shortest distance between her bank and her
house ?

(a) 20km
(b) 25km
(¢) 30km
(d) 35km

Integers are listed from 700 to 1000. In how
many integers is the sum of the digits 10 ?

(a) -6
(b) 7
(R
d 9

A woman runs 12 km towards her North, then
6 km towards her South and then 8 km
towards her East. In which direction is she
from her starting point ?

(a) An angle less than 45° South of East

(b)  An angle less than 45° North of East
(¢)  An angle more than 45° South of East

(d) An angle more than 45° North of East
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Rerferf@ra 4 (ar) soi9r & farg fador -

719 few 10 @ yReset # uige st whess % A9
A Ft FE & I e | 57 e ¥ forg
3773 I HAT 5 TR=Se | & AT 87 TR |

21.

BXC-B-GYLI

afesy - 1

Fai 3R oAy gt Afa-fufor % & o
WA AU STTH wfasT &1 G = @ R
qreT %% § : et $uT 1 Iare awared
Hfeera; wed e @il % fo faseht ot @
A & ayfE o A odifa e sfen
afves Tt & wed # do & amam A ofy; faweh
% i qew fufor sk wmea 6 St *
boraey faselt it srcafus w=f sremn siffe
mafd; e 7@ 76, qft, ser a9y W T@@
BN ey foae | fhg @@ we s
Fremsie oft & 2 : wed gU Sl e Fiw;
THipa Ve IR ofesT Ay w ==t st
T Tgd IR Foll G qgH & o I A,
3R Tt Fai ¥q aefts vaa, wot @ T
9 Hheqn dAR TE R, auif A aRada it s
# 3N Thd H@ F |

fafafga 4 @ Fa s 0w ofede &
T [Forfaes q3vr Seqa i 2 2

(a) WRA & ot fvfa 6t sfrn ade sfw
3 37q.defed & |

a6 S IR SeEy Aifd gunciig
forepra % e & for srcafires gama 2 |

WG W el IR Feary wa Hiam,
Wh ANH  gWleH, onfis sk
iy dedi & e sgge T8 # |

A & Fai [uia i gfea i i w
AYfd-37@ 8 3 wim gy & e HA
21

(b)

(c)

(d)

qfesT - 2

Ut fearé o & 6 amom § a<ht sy arh
Fo wfadifasw siwfal (dfRemifer) sfgwms
(9 SHi) % w9 # Fage (Nedh) 3w o=
e # fawd Tt § | @ oiwfei %
Hfd-3Em & T goen R Ay I B T
&, S wg-sfhfirit & for wfedieh & ok <t wgsai
4 oft 9 W aHRd ¥ | W g6 B, IO
FAFCATTH HUGET 3 FaBel H qAt ¥ a9
agH & fou siefml w1 yam 97 @ foar 2
1990 % T ¥ 94 T 7 wiafew gigwns
(Tt SR YfRamifes) & v W T @ 2,
yq@ YA Fafas &1 s @ % sfis g
TR ARE — gt § i dmwm &
®E |

22. f=fafgs 4 @ @1 F97 swfw wf=dg =

TAer® fAorfae gavr Seqa i 2 2

(a) <N H IYITA IR F VET F I
=1RY |

A ¥ I9F W IErdl F T w et
¥ ITF @I YSIT 1 ITANT HEAT TR |

(b)

g3 W ufasfas el (YfReamifea)
% YA W gfdey g =iz |

(c)

yfostfas el =1 w@m e o0 F
Ig=r & fow € fama smn =nfaw |

(d)

(14-A)
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Directions for the following 4 (four) items :

Read the following four passages and answer the
items that follow. Your answers to these items should

be based on the passages only.

in energy and

BXC-B-GYLI

Passage - 1

India faces a challenging immediate future
climate policy-making. The
sputtering fossil fuel
production limited
electricity and modern cooking fuel for the

problems are multiple :
capabilities; access to
poorest; rising fuel imports in an unstable global
energy context; continued electricity pricing and
governance challenges leading to its costly
deficits or surplus supply; and not least, growing
environmental contestation around land, water
and air. But all is not bleak: growing energy
efficiency programmes; integrated urbanisation
and transport policy discussions; inroads to
enhancing energy access and security; and bold
renewable energy initiatives, even if not fully
suggest  the

conceptualised, promise of

transformation.

21. Which one of the following statements best

reflects the critical message conveyed by

the passage given above ?

(a) India’s energy decision-making process
is ever more
interconnected.

complex and

(b) India’s energy and climate policy is
heavily tuned to sustainable
development goals.

(¢) India’s energy and climate actions are
not compatible with its broader social,
economic and environmental goals.

(d) India’s energy decision-making process
is straightforward supply-oriented and
ignores the demand side.

220

(15-A)

Passage - 2

There are reports that some of the
antibiotics sold in the market are fed to
poultry and other livestock as growth
promoters. Overusing these substances can
create superbugs, pathogens that are
resistant to multiple drugs and could be
passed along humans. Mindful of that, some
farming companies have stopped using the
drugs to make chickens gain weight faster.
Since Denmark banned antibiotic growth
promoters in the 1990s, the major pork
exporter says it is producing more pigs —

and the animals get fewer diseases.

Which one of the following statements best

reflects the critical message conveyed by

the passage given above ?

(a) People should avoid consuming the

products of animal farming.

(b) Foods of animal origin should be

replaced with foods of plant origin.

(¢) Using antibiotics on animals should be

banned.

(d) Antibiotics should only be used to treat

diseases.
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ufteds - 3

Aifd-Fataredi it s-g=m memi (difen)
I @@ gl I EEE gt Fedl F e w5
HTHI HI el g 8, Frad fom it 3= fid,
e WE-3caeH 9§ @Ue 1w 3R @Rid
ueiei % 3Icared & forw gy 1 3w wifer 2
fer oft, waifts o arft It &8
sferaenatt & @@ gt fit w5 § g w
i s fa ™ 2 | @ W 9@ H s
Ay G9TEAT F=dt 2 foh 37 g9l 4 it @ua
¥ @rE Hehe Ic9A B gl § |

23. 39w ufteae & we #, fmfafad qduromd
TSR R

1. G 9el % 3= oAl B U SR 9d
IEH QW 2 |

2. gfe fepe wiesy 4, fava o @@ dwe 3=
B 2, @ 9% e g srfemaana §
Ll

304 § ¥ HH-H gEaron/gdyrond 9= 278 2
(a) Fad 1

(b) HaA 2

(¢ 1323

(d Ja@ 1,782

ufese - 4

snyfyer famm sdome & ger w@ew
3 § gfg # wew o 2, o s we
Wy I (AR 7 9fg @ ® | Regraa,,
Tt g% AR, I9m R fAw & sEwm
g #ft & | = foreft @ 2w i o # gfg
Bt 2, et i@ f. = ww wft fom oo,
9 IfEr, g9 3 TR =) Sffe % fa
ATEYIF TEGHAT & IAE 2q $S MY Hl FH
T # I gwd B & | o faem
yeeEael (Saaae dAfedsa) §, fdtd. @
Teeaqul T W 3 W 2 R afg e “onfdew
3fg” # Ig@ Fa1 8, @ ' IH I & F
I s S A dafga e

24. I uftese & wed #, fr=fafega geumomd

AT T E

1. wqh g NAd. e 2w B Rl 2w
F ¥ fore srfamd 2 |

2. gt g NAd aft shad 7 s =

Tufea faaor gfifeaa w2 |
I ¥ ¥ HH-H [HIRO/gEGIReTE 9 28 2
(a) a1
(b) HIA 2
¢ 13 23Ht
d dd@1L,TIR2

BXC-B-GYLI (16-A)
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Passage - 3

Policy makers and media have placed the
blame for skyrocketing food prices on a variety of
factors, including high fuel prices, bad weather in
key food producing countries, and the diversion
of land to non-food production. Increased
emphasis, however, has been placed on a surge in
demand for food from the most populous
emerging economies. It seems highly probable

that mass consumption in these countries could

be well poised to create a food crisis.

23. With reference to the above passage, the
following assumptions have been made :
1.  Oil producing countries are one of the
reasons for high food prices. 24,
2.  If there is a food crisis in the world in
the near future, it will be in the
emerging economies.
Which of the above assumptions is/are
valid ?
(a) 1lonly
(b) 2only
(¢) Bothland2
(d) Neither 1 nor 2
BXC-B-GYLI (17-A)

Passage - 4

A central  message of modern
development economics is the importance
of income growth, by which is meant
growth in Gross Domestic Product (GDP).
In theory, rising GDP creates employment
and investment opportunities. As incomes
grow in a country where the level of GDP
was once low, households, communities,
and governments are increasingly able to
set aside some funds for the production of
things that make for a good life. Today

GDP has assumed such a significant place

in the development lexicon, that if
someone mentions “economic growth”, we
know they mean growth in GDP.

With reference to the above passage, the

following assumptions have been made :

1.  Rising GDP is essential for a country to
be a developed country.

2. Rising GDP guarantees a reasonable

distribution of income to all households.

Which of the above assumptions is/are
valid ?

(a) 1lonly

(b) 2only

(¢) Both1land2

(d) Neither 1 nor 2
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25. WA YW P, Q, R, S, T, U 3R v dry-q19 Tt
& | R, Q3R T % 37arw it § 3ik ar=r g
F A A VT H B | haw S M U T
Y& § 3R AY e U # | P, R 3 s Ry
fard & I mfem # | iR s a@ R
TR HAA § 2
(a) Q3MR
(b) Q3IMU
(© Q3T
@ T3IRU
26. T U MU FHEH
3,2,7,4,13, 10, 21, 18, 31, 28, 43, 40 H,
Teld 9g 1 WE UG ¥ Fgel, W&l v 9g 3ik
T g GO Y 1 SAFE FA E |
(a) O
({387
() |
d 6
27. $® Wlafedi &1 smeyg i fomn ma R | wfafeat
ufthar uw fafvea wgfe &1 sgeor @t §
degan 3Ty fafe (2) #1 =57 i |
7B 10A 3C
3C 9B 6A 30.
10A 13C ?
(a) 9B
(b) 3A
(c) 3B
d 3C
28. =9 q uferal & <1 welEw rgen oy o §
ATHE-1: |8 |4 |6|15]|525 | 23625
IFTHA-II: (5 |A|B|C| D E
HIFA-11 % fow ¢ 3 wom oo wfafy 2 2
(@) 26
b 5
(¢) 9375
d) 328125
BXC-B-GYLI (18-A)

29. UH Afh X, TIM A & a1 U F =AMF v,

M B & U & G99 T UH-gat hl IR Tem
AT Hd & | I T & i A gl 15 km
® 1 X, 15 km/hr I THENH 919 & SodT £
AR Y 98 9 # 1 knmvhr I THEWH 91 X,
T e H 125 knvhr Y THEHF T @ qo
|t 92 ¥ 15 km/hr ) THEHE 916 @ Tordr
2 3R 6t wobR Im ft T ST TEar 2 |

frafafiga # @ /@98 g 2/3 2

1. 39 3Hi ®I e & 592 &1 gwg e |
2. 93 AQY B¥IHI & dieide freh |
= few T e 1 @ W= ad I gh
(a) ad 1

(b) e 2

(¢ 13 23M!

d Ad 1,782

e foendff e & 6 ww-wE # @1 ® | v_@w
Y93 &% fou sifteraw 3t weEwE £ | @
YA H I IAH 5:6:7:8:9:10 %
FE H 8 | P e I 60% 3® WA
fu | 3ma fohem wwawEl o sifreeaw ot %
60% ¥ H 3% W fehy 2

(a) 2
(b) 3
() 4
d b5
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25. Seven books P, Q, R, S, T, U and V are placed
side by side. R, Q and T have blue covers and
other books have red covers. Only S and U are
new books and the rest are old. P, R and S are
law reports; the rest are Gazetteers. Books of
old Gazetteers with blue covers are
(a) QandR
(b) QandU
(¢ QandT
(d TandU

26. Replace the incorrect term by the correct term
in the given sequence

3,2,7, 4,13, 10, 21, 18, 31, 28, 43, 40
where odd terms and even terms follow the
same pattern.

(@ 0
(b))
()28
d 6
27. Following is a matrix of certain entries. The
entries follow a certain trend row-wise. Choose
the missing entry (?) accordingly.
7B 10A 3C
3C 9B 6A
10A 13C 7

(a) 9B

(b) 3A

(c0 3B

(d 3C

28. You are given two identical sequences in two
TOwWS :
Sequence-I: |8 | 4 | 6 | 15 | 52:5 | 23625
Sequence-Il: |5 |A|B| C | D E
What is the entry in the place of C for the
Sequence-I1 ?
(a) 25
(b) 5
(¢) 9376
(d) 32-8125

BXC-B-GYLI

29.

(19-A)

A person X from a place A and another person
Y from a place B set out at the same time to
walk towards each other. The places are
separated by a distance of 15 km.
X walks with a uniform speed of 1-5 km/hr
and Y walks with a uniform speed of 1 km/hr
in the first hour, with a uniform speed of
1-25 km/hr in the second hour and with a
uniform speed of 1'5 km/hr in the third hour
and so on.

Which of the following is/are correct ?
1.  They take 5 hours to meet.
2.  They meet midway between A and B.

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2only

(¢) Both1and2
(d) Neither 1 nor 2

A student appeared
maximum marks are the same for each paper.

in 6 papers. The

His marks in these papers are in the
proportion of 5 : 6 : 7 : 8 : 9 : 10. Overall he
scored 60%. In how many number of papers
did he score less than 60% of the maximum
marks ?

(a) 2
(b)) 3
(© 4
d 5
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Referfaa 4 (A1) Tvaivn & fore A3 - o

& ffea @ & woge, 3, ok fafy
(@) & FERe HYET IgEF H T B
sfeemar W Ia 7€ W T wEar, R
| A (SiffEE) 6 gh feafa wo

#9 Ry T wR Tedel F aRy Ak =P F A9
I TS FEAI F IR I | 57 g F fore
379 IR FAT §7 WD W § SR F7 T |

ufess - 1

qurHiYd dififes EverRl % Few H, afg
A% Mtk Bl A G H AHeH HH & L
g I, d g4 F 9§ UH HIE 9 T8 e
St e #@; fhg ARk 3 whgw & w @

Fifh, T S ®9 & ATeal % fg
g @ B &, Afug IF Amiear F faw
9GS ST =R | 36 Afafw, 7 §
offs Wi v @R d & ok AR
srferehan afireh yare Bl B, 3i e Tgwew
(FiFaey) #, g TgHed Hil g # 3k
Y B &, af 98 fafvaa @ fo6 qdadt ugHea

AT HA &, A wd F w9 F T B q0Q T@
Bt St = A, SR gafo o % wed A, wqel
fova ot o ool Rva e 2 1

3w & @ & forg vl wY @ T @ T
foran B, oft 7 & qd-foem & et fafyy sard
2, o wfifeu, a7 UpHew ¥ w9 A oMW
fUhR i Jgat 9 | fawa @1 R |

32. I® wR=d % MR W, frafafed § @

31. ITYT URERE % IEN W, WAAF aHHTA e bl

gEeToT FAH 8 w2 2

Framre s gemar 2 2
@ w13 = G afis @ #1| @) wow sfoss § aoge, g o fifu &
st w1 fom Sfier =dla 98 W= Ige amfEd # |
b (b) Tt sftmew d wft wmenet & fou
b T =RE w1 G 2 fh SR W :;"‘;I“(Hﬁﬂ?)mﬂﬁam%,qﬁs

aTfifes HYER 1 TER |
(c) d& AUy gafow @ S Thal & A&d &

fou wm w2 ek s um
gamiesar (Te fafesmfim) % fou fafy

(c) wififes WYl H "4 i ka1 hi &M
F I g At 2 |

(a) B |
O R TT N (@) < g sresT AT Tfid w9
g1 WL

BXC-B-GYLI (20-A)
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Directions for the following 4 (four) items : Passage - 2

Read the following four passages and answer the It is certain, that seditions, wars, and
items that follow. Your answers to these items should contempt or breach of the laws are not so much

be buaget 9 Eha passages only. to be imputed to the wickedness of the subjects,

as to the bad state of a dominion. For men are
Passage - 1 not born fit for citizenship, but must be made so.

Besides, men’s natural passions are everywhere
With respect to what are -called
the same; and if wickedness more prevails, and

denominations of religion, if everyone is left
; more offences are committed in one

to be a judge of his own religion, there is no
sy & commonwealth than in another, it is certain

such 8 #8 religion: that is wrong; but if that the former has neither enough pursued the

they are to be a judge of each other’s end of unity, nor framed its laws with sufficient

religion, there is no such thing as a religion forethought; and that, therefore, it has failed in
that is right, and therefore all the world is making quite good its right as a commonwealth.

right or all the world is wrong in the

matter of religion.

32. Which among the following is the most
logical and rational inference that can be

de from th ivel 7
31. What is the most logical assumption that R R s s i

can be made from the passage given above ? (a)  Seditions, wars and breach of the laws

! are inevitable in every dominion.
(a) No man can live without adhering to

some religious denomination (b) It is not the people, but the sovereign

who is responsible for all the problems of

i f
(b) It is the duty of everyone to propagate Biyrdintiios.

one’s religious denomination.
(¢) That dominion is the best which pursues

(c) Religious denominations tend to ignore the aim of unity and has laws for good

the unity of man.

citizenship.
(d) Men do not understand their own (d) It is impossible for men to establish a
religious denomination. good dominion.

BXC-B-GYLI (21-A)
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ufesds - 3

FEAEAT T YA Albdis AfauHs H
Igud wdl & 6 aft i wum § | wHEa 98
ey 2, S $O% Youd fa9waredl & ey #
=feral & = Bt ®, 5@ 3 9m= ®9 @ g
Fd & | Afcawar #i gfe ¥ F7 q@ FHEG & =@
fuffe faga 2 | sefoe wenfa, nfa, fem,
gardigar, f:whar, I @t S Y W AR *
e SewE & foear s wnfee | wee feafa 6
3 fasivard Ao 3fe & dma 76 & | 98 fomm f
=fehal & WY THMYES FaER fha1 JHT =R,
T had @ HRU F 6 3 & FOF AfRal & o™
F9 ARy fFevand sruan gfas Bt 8, S|, 3
¥ F9% Afw pua fee Raendl, wfawmamedt
wifiqer, yer foeaa aftesr 29 #, sfce
zafere oft fo6 9 ot o= €, o/ amgig-Hifa &
S TR |

33. 30w uiese & wed #, ffafes qaumomd
TS S R

1. guHar, @t % fau e % sgfaw
GERl § HATCHSvaTd & T HFT &4 6l

T qaTaE € |
IHHAT 1 BHT wiehas & 3fEded & foru
BT 2 |

Tft ATt % THE BN @ e v R,
58 fd dieas § off avaa & saif<a
&1 fopan 1 wehat B |

TEAT % AUHR h FER oA 3R
feavfafen i oo vegraeht § wmifas
foran st =nfRw |

I § ¥ HH-H qharend 5 § 2

(a) Haa 13 2

(b) e 23R 3

(c) “ad 13 4

(d) Had 33N 4

BXC-B-GYLI

34.

ufede - 4

AT wET W H 39 T A
afos &9 4 dueg F foae = aar 2,
fow R # T it B 8; sreTdE e
drehifer w9 Wifta & fore sram@ariges god
= B foE Far & | T8t 9 6, sead
% rfois & dpan oft wd =+ foe w@r 2
Ta! ged figia a8 @ 6 9g grw e iR
e fifa fFufor w60 &1 g9 g9E AR
2 | yuw gfe ¥, 9% uF gEg Fae §; fhg 7%
fammaerrlt &= war 2, wife o agfea w9 @
foftra 7 & # o6 3 som et ot waifus
faaerqut amt &1 =9 X Tk | A A wwe T
Bt & 3R I FHaa & A & A IFH WEHE
I% HEN TEHG HA & | UH eAehad, Figw
A I WS wEH g g | — =

ffafga § @ FFa F9 I Tfedg &
Td &1 gataw &9 @ F9ar 2 ?

qHa guS wEA & Pefm w9 % Ty
AT L # |

F qoyd faga & afis F www
oA & TRt oft ®9 %1 3wy 8 S
21

Tt Amfet i fren @ qof, it ok
YTl Siehas i gAfeaa Ht ? |
W & e e omfed g R,
wifs wew & wff w0 § g
Jafifea gt 2 |

(a)

(b)

(c)

(d)

(22-A)
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Passage - 3

Inequality violates a basic democratic norm :
the equal standing of citizens. Equality is a
relation that obtains between persons in respect
of some fundamental characterigtic that they
share in common. Equality is, morally speaking,
a default principle. Therefore, persons should not
be discriminated on grounds such as race, caste,
gender, ethnicity, disability, or class. These
features of human condition are morally
irrelevant. The idea that one should treat
persons with respect not only because some of
these persons possess some special features or
talent, for example skilled cricketers, gifted
musicians, or literary giants, but because persons
are human beings, is by now part of

commonsense morality.

33. With reference to the above passage, the
following assumptions have been made :

1. Equality is a prerequisite for people to
participate in the multiple transactions
of society from a position of confidence.

2.  Occurrence of inequality is detrimental
to the survival of democracy.

3.  Equal standing of all citizens is an idea
that cannot actually be realised even in
a democracy.

4.  Right to equality should be incorporated
into our values and day-to-day political
vocabulary.

Which of the above assumptions are valid ?

(a) 1and2only

(b) 2and 3 only

(¢) 1and4only

(d) 3and4only

BXC-B-GYLI

Passage - 4

Aristocratic government ruins itself by
limiting too narrowly the circle within which
power is confined; oligarchic government ruins
itself by the
immediate wealth. But even democracy ruins
Its basic

incautious scramble for
itself by excess of democracy.
principle is the equal right of all to hold office
and determine public policy. This is, at first
glance, a delightful arrangement; it becomes
disastrous because the people are not properly
equipped by education to select the best rulers
and the wisest courses. The people have no
understanding and only repeat what their
rulers are pleased to tell them. Such a

democracy is tyranny or autocracy. = — Plato

34. Which one of the following statements best

reflects the crux of the passage given above ?

(a) Human societies experiment with

different forms of governments.

(b) Any form of government tends to
deteriorate by excess of its basic

principle.

(e) 'Education of all citizens ensures a
perfect, functional and

democracy.

sustainable

(d) Having a government is a necessary evil
because tyranny is inherent in any form

of government.

(23-A)
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35.

36.

37.

BXC-B-GYLI

120 =i % aqg #, 80 wredig € 3k 9w
faeft & | % fafer, @ @ # 70 =5fw
S S Fhd & | OH WA i gen e
2 S 3SH o wwd B 2

(a 20

(b) 30
(¢) 30%1 39H HH

(d 303 359 Ifere

dH YR (A i F o (3
g % fomn) @ w3 ol areft |t
gemd w foem it st 3 F e §
oq ST 3 GEmed 1 dimee S ? |
frafafga & & Sva/a98 e 2/8 2

1. SHE 744 WA R |

2. STEITUSTR |

(a) had 1

(b) a2

() 13 23Ht

@ 1,782

3 hemett A 3 B # suw: 25 3R 30 faemeff

2 | ®e-A # iftehan s 21 8 991 <A

i 17 8 | HE1-B § ifiehan wrwdis 30 B

qYT AT T 22 B | HE-A ¥ 4 fmndi

HE1-B | THART fhy 9 # |

frafafga sui w fomm Hifsw .

1. H§-B & 3Nuad wais fAfvad &9 @
o i

2. HH-A H MNEA T FAfFea w9 @
@ |

39wl #  HAE /A T 2/E 0
(a) a1

(b) HadA 2

(¢ 13 23

d A 1L,T& 2

38. T HYAI 3 Uh g3 T fomm Hifvm -

39.

40.

(24-A)

Fo7-1: T, @ @ 4 w9 R o @

e wmasidmwe
FY7-2: &1, G ¥ 2 WH IR & IR g9@
e wmasE A we |
o7 . 40 faafiat & wan 4, oid o &

T 1 HH-AT T R ?

FYA A g\ F ded #, fFafefes § @
FHEATEE B ?
(a) %ﬁgrméﬁ%%q%ﬁaw-lwh

(b) I HT IW A & foU Faw HuH-2 yAt

T R

(¢) T T IW 24 & forw a1 9 Fas Hu4-1
1 had HYA-2 T B
9 1 I 34 & ol wem-1 3 Fua-2
M1 Y TR B
3 FHA! 3 T 7oA R e Hifvw
FY7-1: AIMDHAA YIS, B,E MM F A

TS ¥ it wrt 8, fohg 3 @ =g

(d)

oft ged sty wilt & ® |
W-z.-g,nﬁmﬁw%,ﬁﬁcﬁm
|
¥¥7: A, B, C,D 3R E # 5@ e Wit
HH 8 ?

Yl IR g F ded #, FrafaRea § @
AT HE B ?
(a) gﬂmmiﬁ%ﬁ-fq%ﬁaw-lm

(b) gmmm&%&;%q%ﬁaw-zwh

(¢) W W1 I &4 & foru +9a-1 3 F99-2
21 I ATavERaT B

¥ 1 I 24 & fore 7 af hae w1, 7
# Had HYF-2 I B

mﬁsﬁmﬁ TRt 4 7R fauda #w A

(d)

§
:
1
.
i
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85. In a group of 120 persons, 80 are Indians and | 38,
rest are foreigners. Further, 70 persons in the
group can speak English. The number of
Indians who can speak English is -

(a) 20

(b) 30

(¢) 30orless
(d) 30 or more

86. Consider all 3-digit numbers (without
repetition of digits) obtained using three
non-zero digits which are multiples of 3. Let S
be their sum.

Which of the following is/are correct ?

1. Sis always divisible by 74.

2.  Sis always divisible by 9.

Select the correct answer using the code given | gg,
below :

(a) 1lonly

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

87. There are two Classes A and B having 25 and
30 students respectively. In Class-A the
highest score is 21 and lowest score is 17. In
Class-B the highest score is 30 and lowest
score is 22. Four students are shifted from
Class-A to Class-B.

Consider the following statements :

1. The average score of Class-B will
definitely decrease.

2. The average score of Class-A will|40.
definitely increase.

Which of the above statements is/are

correct ?

(a) 1lonly

(b) 2only

(c) Bothland2

(d) Neither 1 nor 2

BXC-B-GYLI (25-A)

Consider two Statements and a Question :
Statement-1: Priya is 4 ranks below Seema

and is 31%¢ from the bottom.
Statement-2: Ena is 2 ranks above Seema

and is 37" from the bottom.
Question :  What is Seema’s rank from the

top in the class of 40 students ?

Which one of the following is correct in respect
of the Statements and the Question ?

(a) Statement-1 alone is not sufficient to
answer the Question

(b) Statement-2 alone is not sufficient to
answer the Question

(¢) Either Statement-1 alone or
Statement-2 alone 1is sufficient to
answer the Question

(d) Both Statement-1 and Statement-2 are

required to answer the Question

Consider two Statements and a Question :

Statement-1: Each of A and D is heavier than
each of B, E and F, but none of
them is the heaviest.

Statement-2: A is heavier than D, but is

lighter than C.

Who is the heaviest among

AB,C,DandE?

Which one of the following is correct in respect

of the Statements and the Question ?

Question :

(a) Statement-1 alone is sufficient to
answer the Question
(b) Statement-2 alone is sufficient to

answer the Question

(¢) Both Statement-1 and Statement-2 are

' required to answer the Question

(d) Neither Statement-1 alone nor
Statement-2 alone is sufficient to

answer the Question

In the English alphabet, the first 4 letters are
written in opposite order; and the next
4 letters are written in opposite order and so
on; and at the end Y and Z are interchanged.
Which will be the fourth letter to the right of

the 13" letter ?

(@ N
) TR |
fe) .
kd)- .21
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FRwfereT 4 (W)W%ﬁmﬁfm

714 ke 17 wr wiessl ) uiRe Ik vieed & H9
31 aT T F I Ao | g7 g & fow

1Y% I FIT 37 TResel W & i &7 FRe |
ufese - 1

efi osg & v $o off femm 1@ @
wehar, Rl T weafy @ stest @ gu ww
S wH, HTifh T At o TEfits o o
Al 8, 98 Had AU & 99 H IH TE&A 2,
IR A THE F U 991 T q B 39
A T H TEY B, AT I R H A0 @
2, 3t @@ # el ot fafy (&) & siafa
9 R o= foreft & ofq et 78 wman
2; R sufor, Jafifs o= & sy &t weg
& B T wHdl, baw fafew v 7 & v
wva R, el A wenfa @ oed A g W
faoly feram ST 2, ot s safs w@d i U5
% wfd IerRart Ha R |

41. f=fafgs & & S F99 39w ofedg %
qe faram &1 @aiow &9 @ gorfar & 2
(a) o1 & AT TAd & — A JF@UROTT T *
Frafor & ror srferea § & |
R A TAT R — 3 AR A 9w
H1§ wrEH it fFofy 78 Sar, #d ot
=fth Afds w9 A T 78 8 gar |
Hofifes 759 ° = w@wifas w9 @
Ffaes 3 weff g 2 |

1 HE AT TAd & — I8 faer wea afa
&t Iesiifear & fore smavas 2 |

(b)

(c)

(d)

BXC-B-GYLI

(26 -

ufesT - 2

e i #, a w4 deififear —
Fom 3fg (nEfefime Rfvsm) w darkmm
(Teifew), 3D fafwior, amest 61wt & sgaR
Ud STefehifed BRI 1 Sgal T0aehl (FHISRERe)
@ | 3ad e wwed Seqw Eif | 3w A
Wy foan foan mn @ o =reredea wr fam 1
AH4 a1 YaIfde  (Jafl) @ ZFR AR U
HEHH Th 3N G HR H Hiowed H F d9
4 folr &3 ot | s sw 9 R, @ —
HHE-SfaT & a9, 3R Sfea ot | ey o w
HR Bl YT I18C — RN Fael 39 790 1 7 7=
I wEIfad B TEH W A IS s 2 IR
Irdifed R safe # arft, @ Fofy #g o 2
o v amsfer weer wuft, @ e §
HE T H1 g Feorad o, A1 R deer #
HINE 98 Wireaat N wum, @ 1 @1 s
w@ " T R 2 Ife fmfm odm et §
wHa-Sfie 1 wafied 3 % aR # fiefim g
fFem (v fie) &M, @ a7 e (gwrvEe)
ot afea dfimr wa faw g Fofdt & frg @@
gy Ham ?

42. 3I9Y%H Uf=de & HUR W, frafafes & @

FR FU fAAwYY, Jhrge va AR

fAfgaret &t dgav avrfa & 2

1. Irfys dvdtnmr frdt off 2w & matow
fea & a8 2 | Sl

2. ongfe denfifeat snfefes = 3
g fuer @ # |

3. TEER IR Gt 7 T F frErdm w
JfaseHor & foram 2 |

4. Y% W 6 grEww A e Gh
Igfd AEered (Twrg =4) ¥ fawm w
Hfza gt =i |

5. YU #  H  SwqEAle iR
srffeadaanstt =1 e @ 8o |

Hiar fau e e 1y W= s gh

(a) adl 1,43R 5

(b) had 1,2,3 3 4

(c) had 2,33 5

@@ 1,238,435

A)
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Directions for the following 4 (four) items :

Read the following four passages and answer the
items that follow. Your answers to these items should

be based on the passages only.

Passage - 1

Nothing can exist in a natural state which
can be called good or bad by common assent,
since every man who is in a natural state
consults only his own advantage, and determines
what is good or bad according to his own fancy
and insofar as he has regard for his own
advantage alone, and holds himself responsible
to no one save himself by any law; and therefore
sin cannot be conceived in a natural state, but
only in a civil state, which is decreed by common
consent what is good or bad, and each one holds
himself responsible to the state.

41. Which one of the following statements best

reflects the central idea of the passage

given above ?
(a) The conceptions of what is right or
wrong exist due to the formation of a
state.

(b) Unless a ruling authority decides as to
what is right or wrong, no man would be
morally right.

(¢) Man is inherently immoral and selfish
in a natural state.

(d) The idea of what is right or wrong is
necessary for the survival of human

species.

BXC-B-GYLI

Passage - 2

In the immediate future, we will see the

increasing commodification of many new
technologies — artificial intelligence and robotics,
3D manufacturing, custom made biological and
lethal
weapons and driverless cars. This will pose

conundrums. The moral question of how a

pharmaceutical products, autonomous

driverless car will decide between hitting a
jaywalker and swerving and damaging the car has
often been debated. The answer is both simple —
save the human life — and complex. At which
angle should the car swerve — just enough to save
the jaywalker or more than enough ? If the
driverless car is in Dublin, who would take the
decision ? The Irish Government, or the car’s
original code writer in California, or a software
programmer in Hyderabad to whom maintenance
is outsourced ? If different national jurisdictions
have different fine print on prioritising a human
life, how will it affect insurance and investment
decisions, including transnational ones ?

42, Which of the following statements best reflect
the rational, plausible and practical
implications that can be derived from the
passage given above ?

4 Too much globalization is not in the best

interests of any country.

2. Modern technologies are increasingly
blurring the economic borders.

3. Innovation and capital have impinged

on the domain of the State.

4.  Public policy of every country should
focus on developing its own supply
chains.

5. Geopolitics will have to reconcile to
many ambiguities and uncertainties.

Select the correct answer using the code given

below :

(a) 1,4 and 5 only
(b) 1,2, 3and4only
(c) 2,3 and5 only
d 1,2,8,4andb

(27-A)
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ufess - 3

fearen ok ww semar d@fgar (F=) *
IFER A dhi & oo amel #1 gHemE
fpar Sw, @t 9' srele ufEufy (wodie,) feufy
w F9 € 7 FEfE F0 § ggws 8 gwar ¢
U FuAt fafyy sftrestor gro e s arer gEmamEl
$ fa ofift 9 % e, 78 dfgar e ot
# ¥ afgdl i M@ (Tl 379) F@ § gz A
Tl @ | HIESh &3 % Sehl b1 G Gofieor ot
i & Tomew §oft (Hfvea Fvm) A wer sk 3=
af o 33 iR el nfefafy =t sgrar 33 &
o @ +9 # wErd & whar § | fhg, e
F9 B GEYH 3R G i, 39 gHIYE F1
T € #, w9 39 AFEbE o e §
qgd FH @ TEES & dhd 8, P wwda S
Ut @l 3Tl FAAM ST HEaEAT § A1 @l
fFa 8 | 9 a surolia o B gEen F guaE
% for yomefima gum &€ fbu 9 &, 99 a6 Wi
HUL-Fh SR YOIt W gEE Sed @ |

43. 39 witede % g, Ffafaa Hoei & &

A FgEfgws adana, faEegy ek

STAETRS AT Ht Agav AT 2 2

(a) s g feu S S W w1 @EA
sdten (aifier) ot wm fafvamm 3
THR i HEAT 1T |

(b) == g o @it 9 =fee, fed fe
atferss o1 4, o gfg A Wieatfea H@
3R 3a SR nfies nfafafy = sqm@n
A & foqu St 1 A foma s Ee |

(c) 3§ Sl H FS a8 dhi A faed Hem &
S B dANMHHN dH I IFTH @
frsarea =t e o1 Selepriorss gamy™ 2 |

(d) oMer HOr H GEET & HEITTR
qOYE % &9 §, I dfen gomeft d
TLEATHS GUR 3E9TF # |

BXC-B-GYLI

qfeag - 4

ard H, ufe e Hifs #1 seym <t
& anfih oA A FEET R, i Ut wwiy
s fifs it fmeht oft wman (fam), @ @
a1 TohIE, gEd wmE % "iha wada & fa,
A ®9 ° HH TG B Tt |

44. Frafafga § @ FF-91 FF, 39w df=se &

3u-firgra &1 agav gonar 2 ?

(a) hgld S TLHR ¥ @ad a1 HME T8

Hehdl |

(b) R @ foeita s 3k gered &
e fafemm s =i |

(¢) W9R Fdqaedr THR H  FHEEE
Aot 3 wa TR |

(d) <@rm & fde wHeamr # seE * forw
faefa &= & gur smavas # |

(28-A)
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Passage - 3

The resolution of bankruptcy cases of Indian
banks under the Insolvency and Bankruptcy
Code should help bring non-performing assets
(NPA) situation under some control. Despite the
slow pace of resolutions by the National
Company Law Tribunal, the Code can be helpful
in cleaning up bank books in future credit cycles.
The recapitalisation of public sector banks too
can help increase the capital cushion of banks
and induce them to lend more and boost
economic activity. But bad debt resolution and
recapitalisation are only a part of the solution as
they, by themselves, can do very little to rein in
reckless lending that has pushed the Indian
banking system to its current sorry state. Unless
there are systemic reforms that address the
problem of unsustainable lending, future credit
cycles will continue to stress the banking system.

43. Which one of the following statements best
reflects the most logical, rational and
practical suggestion implied by the
passage given above ?

(a) Lending by the banks should be closely

monitored and regulated by the Central
Government.

(b) Interest rates should be kept low so as to
induce banks to lend more, promote
credit growth and thereby boost
economic activity.

(¢)  Merger of many banks into a few large
banks alone is the long-term solution to
make them viable and prevent their bad
performance.

(d) Indian system  requires
structural reforms as a long-term

banking

solution for bad loans problem.

BXC-B-GYLI

(29-A)

Passage - 4

In India, the objective of macroeconomic
policy is to enhance the economic welfare of
the people, and any one wing of such macro
policy, monetary or fiscal, cannot
independently work without active support of

another.

44. Which one of the following statements best

reflects the corollary to the passage given

above ?

(a) The céntral bank cannot work

independently of the Government.

(b) Government should regulate financial

markets and institutions closely.

(¢) Market economy is not compatible with

the socialist policies of the Government.

(d) Financial sector reforms are required for
enhancing the economic welfare of the

people.
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45.

46.

47.

BXC-B-GYLI

frafafiga anoft w famm $ifsw .

Tt
R =T o) d @eft 78 H s T weft g

waeht Tt | waeh Wil | qEh

e e e

61 99 14

05 12 50

15 75 20

gQ|m | >

13 55 12

39 3% A9 H, ged 99 W S a1l $H 8 ?
(@) A
(b= B
¢ C
()T

TH YW H Y THATEE kA9 W E | 15

yaTEt g i @t B & | 1/3 AHarE e

2| 45 uaTiEl Y g 25 9§ H HW B |

freafefiga oAt § ¥ s ffa w1 3 @
?

?ai @ ot amerh wew €, A wm o
;zémmmﬁ@m@m«m
(©) gﬁ:amﬁm’mm%aﬁmﬁ@?ﬁ
fﬁ%wmmﬁﬁﬂﬁtﬁm%
T IAGET R AR @ |

3wl 3 T g9 1 famm i

F97-1 ; Tt wre o aifow fo7 gaam 2 |

w.z;%aquﬁusrﬁanmwﬁﬁq
|

Y97: TEAHE S 149 A A an 2 2

Hudl 3 A % ged #, fafafes & @

F-AT TE B ?

(a) %wa;rwéﬁ%%qmme

(b) g‘ﬁwméﬁ%%qmw-zm

(b)

(d)

(¢) U & I &4 & fou Fua-1 3R Fua-2
31 I HAEvThar B

Y99 %I I 24 & fore 7 & aa wYA-1, 7
B had HIA-2 14T B

(d)

48.

49.

(30-A)

10 3TFE, 2027 HH-81 IR &M 2

(a) Uaam

(b) HHAR

(c) AR

(@ wfEr

= feu T @ FHoEl R IR Fepst w fEw
HIY | TR T FAA B FE A G T
1 IT AT 2, WA B A GHIA B9 F A a4
& 3fd & T wdfta T & | aft frew 5 o0g
3 qegvEa folg w6 Faa/Haa feed
fau MU FoEl F AR qhETa 2/, v @ A
AW ®Y 8 7 aei i gfE & Tma A #
FY7-1: FOWAAR |

FY72: TS AA HA & |

fsy-1 :
Y2 ;

FO R B B |
1§ ft 7 Hren TE 2 |
Aepy-3: aft & %t & |
fras4: aft Faat g |

frafafiga & @ wqa wd 2 2
Faer freed-1 R freand.-2
(b) hae fred-2 3t frepd-3
(c) hadt frsd-3 3l fspd-4
Faifepd, a2, 7d 3, a4

(a)

(d)

HTHA 2, 7, 22, 67, 202, X, 1822 H X’ H °H

L2
(a) 603
(b) 605
(c) 607

(d) 608
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45. Consider the following Table :
Runs Balls Runs [Balls faced
Player scored in| faced in | scored in | in the
the First|the Firstthe Second| Second
Innings | Innings | Innings | Innings |
A 61 99 14 76
B 05 12 50 85
C 15 75 20 50
D 13 55 12 50
Who is the fastest run scorer in the Test 49.
Match ?
(a) A
(b) B
) ©
(d) D
46. Half of the villagers of a certain village have
their own houses. One-fifth of the villagers
cultivate paddy. One-third of the villagers are
literate. Four-fifth of the villagers are under
25 years of age. Which one of the following
statements is certainly correct ?
(a) All the villagers who have their own
houses are literate.
(b) Some villagers under 25 years of age are
literate.
(¢) Only half of the villagers who cultivate
paddy are literate.
(d) No villager under 25 years of age has his
own house.
47. Consider two Statements and a Question :
Statement-1 : The last day of the month is a
Wednesday.
Statement-2 : The third Saturday of the month
was the seventeenth day.
Question :  What day is the fourteenth of the
given month ?
Which one of the following is correct in respect
of the Statements and the Question ? 50
(a) Statement-1 alone is sufficient to|
answer the Question
(b) Statement-2 alone is sufficient to
answer the Question
(¢) Both Statement-1 and Statement-2 are
required to answer the Question
(d) Neither Statement-1 alone nor
Statement-2 alone is sufficient to
answer the Question
BXC-B-GYLI (31-A)

48. Which day is 10™ October, 2027 ?

(a) Sunday
(b) Monday
(¢) Tuesday
(d) Saturday
Consider two  Statements and four

Conclusions given below. You have to take the
Statements to be true even if they seem to be
at variance from the commonly known facts.
Read all Conclusions and then decide which of
the given Conclusion(s) logically follows/follow
from the Statements,
commonly known facts.

Statement-1 :
Statement-2 :

disregarding the

Some greens are blues.
Some blues are blacks.

Conclusion-1: Some greens are blacks.

Conclusion-2 : No green is black.
Conclusion-3 : All greens are blacks.

Conclusion-4 : All blacks are greens.

Which one of the following is correct ?

(a) Conclusion-1 and Conclusion-2 only

(b) Conclusion-2 and Conclusion-3 only
(¢) Conclusion-3 and Conclusion-4 only
(d) Neither Conclusion 1 nor 2 nor 3 nor 4

What is the value of X’ in the sequence
2,7, 2267, 202X 182277

(a) 603
(b) 605
() 607
(d) 608
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Rerferfera 2 (31) sroreri @ forg A :

79 fer T @ k=Bl #! 9iew ik RS & #9
3 qrt FEIN & I HAT | 37 TR & forw
HF IW AT 3 RSB W & Smula &7

TIRY |
ufesg - 1
FaS iR WM. &, A wataw fvafyaem,
% AE-EE (IAA) W Iad § FO I
FemH A glaw BN F TEg, “fRw s’
(Flipped classroom) ST&Y &l dsft & {91 @ &, ST&f

39 A B TE FW T, S e s i
B ¥ 3l 3% 0 39 el | e = & S
grEfies B | 3 favafeememi 3 s Aifsa saremEi
® R fava § wes fom fyes uerey frr @ 13
Tl fava % wefamedl o favafaed & =
JTAATE ISTHAT Bl Tehighd Hch 94 LAY H
TS &, AT AT & FTEY ITH Gel
Fl AR IFH AYR | Ths 0 F@ & fou o
TedTied @ 7 |

51. f=fafed & & #F-a F9 3w uf=ae &
ST faram &1 gataw &9 @ F9ar & 2

(a) 9RUR® ugfd it ganr § e faremor
gaifeld Al 3MHeed ugld @
farvafeamedt 6t smwar Jgax anft |

(b) fowzawg & 1§ et fopu fomr s=aan foram

TESaT | 3R FH T U Iuerey HUS S
Rt |

(c) B I=r foen & gafta smurfie g o
s fFaw @ i Sravgwar T8 & 3
a9 ft, g9 SEd AHEE R wmfores gt
forepfoa s aha & |

(@ = frem § S &3 & SwE *
QI HIFT GEAH 36 JATE H AN

ufess - 2

AR TR, SHEEA % AfH G i
FE i wEel % %
ey ditad & wfa s giw € | sEes
Hfdfeh, ITH TeEA v §g @ #, fhg &
Farg qitadT & waiEl & e % e anf
T s Yol fowfea 8 6 & | S, 4
AR TR & IEH 65% B, fohg 398 swar i
HETIHATHA Bl G0 A & forg qaiea glaemd
T & | 9 A ora, wiegd, anfe, F defta
THETSA! T SH o Hewaqul 8, it o dumfia
quoYE ged & fou oruEvEs § | @ Wn
IS I F HE A AT H qiEAfod HE
H ravIHar @ R W wifeafas 93 1 gem
FET B S AT SAETEHATIAT B G W
T |

& Thd & 3 BA-FA Hehd & |

BXC-B-GYLI

(32-A)

52. WY Uiese & MUR W iaurfed, f=ferfeaa

U ¥ wAE gaffae adara s sy
frd & qhar 2 ?

(a) TR TR § e @Ewa 919 g
TRITE{e ST I T AT 2 |

(b) T® sg@ gen e w9, Fuwea
forpra 3 % AR vIEl § @Y # |

(¢) TR TR & W@@E IR fawm & o
W gurviigar dedt gEv wE Hi
ATEYIHAT & |

d) WRa H uies A 3R Funeiaa
gadft woemei & fou fewm 6
geafe-fAsft  wrfielt wgfd  swasd
Autafty gy 2 |
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Directions for the following 2 (two) items :

Read the following two passages and answer the
items that follow. Your answers to these items should
be based on the passages only.

Passage - 1

The best universities like Harvard and MIT,
despite having the luxury of having some truly
excellent teachers on their payroll, are
increasingly embracing the “flipped classroom”
format, where students listen to video lectures at
home, and spend class time applying their
knowledge, solving problems, discussing
examples, etc. Professors guide that discussion
and fill in wherever necessary, explaining those
bits that seem to be eluding the students and
throwing in advanced ideas that happen to be
topical. These universities have made their video
lectures available free for anyone in the world.
They are also encouraging colleges and
universities all over the world to integrate these
online courses into their own pedagogy, picking
the pieces that are appropriate for their needs
and building a package around them.

51. Which one of the following statements best
reflects the central idea of the passage
given above ?

(a) Efficacy of universities would be better
in online mode of conducting classroom
tuition as compared to conventional
method.

(b)  Availability of higher education can be

made easier and cheaper without
diluting the content.

(0 We need not invest much in
infrastructure  related to  higher

education and yet develop better human
and social capital.

(d) Private sector institutions in higher
education as well as coaching institutes
can take advantage of this opportunity
and thrive well.

BXC-B-GYLI

Passage - 2

Our cities are extremely wvulnerable to
climate change because of large concentrations of
populations and poor infrastructure. Moreover,
population densities are increasing in them but
w;a have not yet developed the systems to address
climate change impacts. Our cities contribute to
65 per cent of the GDP, but there are not enough
facilities to cater to the needs of the people. It is
in.'nportant to address the issues of air quality,
transport, etc., that are vital to identifying
sustainable solutions. We need to involve citizens
in city planning and create an ecosystem that

meets the needs of the people.

52. Which among the following is the most

logical and rational inference that can be

made from the passage given above ?

(a) Our cities need to have well-defined
administrative set-up with sufficient

autonomy.

(b)  Ever increasing population densities is a
in our efforts to achieve

sustainable development.

hindrance

(¢) To maintain and develop our cities we
need to adopt sustainability related

interventions.

(d) Public-Private Partnership mode of
development is the viable long-term
infrastructure and

sustainability problems of India.

solution for the

(33-A)
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53. 4 a¥1 faom 3 U € gFE A U & T &
Fo 44 iR fauw fe wler ¥ fou wmm
g @e 6 | IR s ¥ 3 99 3 5 et
whd, 3t fasg 3 2 99 ok 7 Ufd wlid, @
freafefiga & @ AT adt 2 2
(a) Ut %1 g, T % qeT § Al R
(b) Ufer 3 99 &% oI S &

(© U 1 e, UfhE % qo | g @
@ 9 % e, U % gew @ fan @

54. T Y& § P 3 Q ¥ 40 3 s wra fhu |
2 Q 7 P ¥ 10% 9 3% W fhy, @ Q
fope 31 e fopu 2
(a) 360
(b) 380
(c) 400
d 420

55. ARG PIFH M i a wmimx @
11 fop 3u% g@ fhan o7 ® | X 3 I e,
‘GR Y g 7 40 TR, N Y F 9 Z § 304
v 8, fohg afe 2 93 = 40 T B, @ wW A
¥ g quat g9 2 |7 X, Y 3R Z & 9
framea 8 2
(a) T 420
(b) ¥ 360
(¢ %300
@d T 270

56. TH FZWW H ‘MATHEMATICS @I
‘LBSIDNZUHDR’ % &9 # for@r wmar 2 | 39
FHe-umT § ‘CHEMISTRY 1 & foran smam 2
(a) DIDLHRSSX
(b) BIDNHTSSX
(¢) BIDLHTSSX
(d) DGFLIRUQZ

BXC-B-GYLI

(34-A)

58.

59.

60.

57. Trafefa & & frm wwa, feefh vt & =2

g aur fie i g mE # 180° W HW
T 2

(a) T7:00 %

(b) 7:00 3R 7:05 § & &=

(¢) T7:0593

(d) 7:053MR 7:10 5 & =

90 Y aTell Uh SgAE wlien #, TS WE IW
¥ forw 5 37 Fuifa fpg T & o y@% TTe@
IR & foru 2 37 were o § | ;ft 90 WAl
IR A W, T faeneff @t F@ 387 3®H W
qC | Terd I i wen e 2

(a 9

(b) 13
(e} o2
(d 43

frafafes s (vfewm) & s W faEw
$ifw

3P + 4P + PP + PP = RQ2; 5i& P, Q 1 R fim
3% 2 |

7 gt GHTST ATHA! 1 GHTGR TS T & 2
(a)
(b)
(c)
(d)

Frafefaa = (afeeferdrem) & @ = fEr
ifs

(PQ) x 3 = RQQ, &l P, Q 3 R fir a7= & ok
R#0% |

(P+R)+ QHIAF F1 R ?

YR

b 2

(c)
(d)

102
120
202
220

5
gt atfeel % wror Fuifa 78 foen

ST Hehdl
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53. Jay and Vijay spent an equal amount of|57.
money to buy some pens and special pencils of
the same quality from the same store. If Jay
bought 3 pens and 5 pencils, and Vijay bought
2 pens and 7 pencils, then which one of the
following is correct ?
(a) A pencil costs more than a pen
(b)  The price of a pencil is equal to that of a
PO 58.
(¢)  The price of a pen is two times the price
of a pencil
(d) The price of a pen is three times the
price of a pencil
54. P scored 40 marks more than Q in an
examination. If Q scored 10% less marks than
P, then how much did Q score ?
(a) 360
(b) 380
(c) 400 59.
(d 420
55. A person P asks one of his three friends X as
to how much money he had. X replied, “If Y
gives me ¥ 40, then Y will have half of as
much as Z, but if Z gives me ¥ 40, then three
of us will have equal amount.” What is the
total amount of money that X, Y and Z have ?
(a) T420
(b) ¥ 360
© %300 0.
d <270
56. In a code language ‘MATHEMATICS is
written as ‘LBSIDNZUHDR’. How is
‘CHEMISTRY written in that code language ?
(a) DIDLHRSSX
(b) BIDNHTSSX
(c) BIDLHTSSX
(d) DGFLIRUQZ
BXC-B-GYLI (35-A)

At which one of the following times, do the
hour hand and the minute hand of the clock
make an angle of 180° with each other ?

(a) At 7:00 hours
(b)  Between 7:00 hours and 7:05 hours
(¢) At 7:05 hours
(d) Between 7:05 hours and 7:10 hours

In an objective type test of 90 questions,
5 marks are allotted for every correct answer
and 2 marks are deducted for every wrong
answer. After attempting all the 90 questions,
a student got a total of 387 marks. What is the
number of incorrect responses ?

-t G

(b) 13
) BT
(d 43

Consider the following addition problem :
3P + 4P + PP + PP = RQ2; where P, Q and R
are different digits.

What is the arithmetic mean of all such
possible sums ?

(a) 102

(b) 120

(¢ 202

d 220

Consider the following multiplication
problem :

(PQ) x 3=RQQ, where P, Q and R are
different digits and R = 0.

What is the value of (P + R) + Q ?

G e

(b : 2

(¢) -5

(d) Cannot be determined due to
insufficient data
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Feaferfem 2 (1) wearon & ferg 39T :

19 137 77 g W=D F UG 3K Wewe] F A+

7 qIe T F I AT | 37 FenE F oy
H9E I FaT 3 UReoe W & muiRa &7

13T |
ufese -1

F HIE Alhad <H GHT dh HeATIRR
TS B9 & 99 ThdT 8 ? S HA H I &9 H
IR T F AE BreT S FhaT & ? IR 3R
Ahdd & o9 Fafied aad faemE ? | 9N
ue-fth-uhd (d1e) % faga W FH 7@ Fd €,
31 o <iepaa © BT & | I8 o4 9 |’ A
qrT 8, 98 IGh gfawn, v, a9 a9 |
afv amgfd i gmar w fft Fean B | Ao SARE S
e 3 e % Sfae oo €, i wgd @ @nn
# TN F e gEEE ¥ I ft 33T 6 F,
fohq F© @M B T Bl & fabm b o FA
e & 78 firer e B, s # R A @
i Fr: Ed e Al @ iR 9gd AW i 8
YT T PV [Fehld HA | BB THY A
3 | A Aetat giva w6 e @
wEEdl W ghd 8, fhg e w@w @
Fem-frewie w1 e wW R |

61. I ufede % wey #, Frfafga gEumomd
T M E

1. 3y diehad SR 6 Wit T AR A
% difep 3 HeAuHHt T &4 Feb |

9. Wrpadl ® YW sAW % fow smavaw
Tt anfdes gfyg i SR gifeea #d @ |

3. e famm # 68 ge mu ar & fag
T HRHAT hl HETHAT & |

IEE # ¥ AHEH qeEwon/gEduremd 5=
8/82

(a) . el 1 3 3

(b) had 3

(c) had 2 3N 3

d 1,23MW3

BXC-B-GYLI

ufesg -2 .

TR faed #, #W A W=l W
siiferh, nifora ot sfem aon aAR o S FO
TH 2, 7% 91 # 99 $9 g & {52 I Al
vl & | g 1 79 3% 30 § memh f
@ Pt Sfedg Hit Fearee F TN #, T g
* wgd 93 e # ufgd FW A g@ F
ko 3 it #, wfeensit & sf dagfie
(=t dfifefadl) & W #, fawes & w9 #
ffivaare 6 gwraa, anfe % ) # foen @
& 298 Wt 3a1 € wEwqUl @ fo6 w0 wW 3% T
gea 1 e 33 &, v 3F Feaw Rk
R R U UEW we i foem 3@ # 2
foarem $ d9a (Frges) R @ e,
s &, e/ fead @+t favafaemem
#1333k gfan # wrar/ardt ® | 7@t @€ faem,
gurEt iR femamed % gg # w7 wrar/Sd
2 | ¥ g 3E% fog wEQEt @ wwan R,
@y e ot T wEm FwH % foe
Fatcantea foman T 2 |

62. frafafga # & #i9-a1 F9 I Ih=d

g farar &1 gaiow &9 @ Foar & ?

(a) faemerft gressen w=1 ot ftrraei i
aenalt % I TE 2 |

b) g IuaferEl W @ &4 F Afthe 3R
Fee F e & fou g9z faear 2 |

(c) ﬁﬁmmﬁ%%ﬁm
w1, e sgaen i fewgd @
=1fRe |

(d) B AviE s % fau, adum fawm
Zaey e fowmaw ¥ faf,
gt o Sfa-aras Hwe St 5
Ht 8 |

(36-A)
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Directions for the following 2 (two) items :

Read the following two passages and answer the
items that follow. Your answers to these items should
be based on the passages only.

Passage - 1

Can a democracy avoid being a welfare state
for long ? Why cannot mass welfare be left
entirely to the markets ? There is a built-in
tension between markets and democracy.
Markets do not work on a one-person-one-vote

principle as democracies do. What one gets out of

the market place depends on one’s endowments,
skills, purchasing power and the forces of
demand and supply. Markets reward individual
initiative and skill, and may also lift many from
the bottom rungs of society, but some people
never get the opportunity to develop skills that
markets demand; they are simply too poor and
too handicapped; or skill formation takes too
long. By creating jobs, markets may be able to
help even unskilled people, but capitalism has
always witnessed bursts of unemployment.

Passage - 2

In our schools; we teach our children all that
is there to know about physics, maths and
history and what-have-yoﬁ. But do we teach
them about the bitter caste divide that plagues
the country, about the spectre of famine that
stalks large parts of our land, about gender
sensitivity, about the possibility of atheism as a
choice, etc. ? Equally important, do we teach
them to ask questions, or do we teach them only
to passively reéeive our wisdom ? From the
suddenly, the
adolescent finds himself/herself in the unfettered '

world of university. Here he/she is swept up in a

cocooned world of school,

turmoil of ideas, influences and ideologies. For
someone who has been discouraged from asking
questions and forming an opinion, this transition

can be painful.

61. With reference to the above passage, the|go  Which one of the following statements best
following assumptions have been made : g
reflects the central idea of the passage
g s Modern democracies rely on the market ol i 7
forces to enable them to be welfare . :
states. (a)  School curriculum is not compatible with
2. Markets ensure sufficient economic the expectations of children and parents.
i Wt_h hecspeusy. 1% deanpacies 1o e (b) Emphasis on academic achievements
effective. ;
does give time for development of
3. Government programmes are needed for personality and skills.
those left behind in economic growth.
Prepari the chil to
Which of the above assumptions is/are b i .parmg oS i Sl
valid ? citizens should be the responsibility of
B s s the education system.
(b) 3only (d) To be a better citizen, the present world
(¢) 2and3only order demands societal and life-coping
@ 1,2and3 skills in addition to academic content.
BXC-B-GYLI (37-A)
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65.

67.

BXC-B-GYLI

@7 fig P, Q 9 R % & @1 W 39 TR
g PQ:QR=3:52 1IR PQ:PR&
U HH 6 AT n B, @ n forees stet 2 2
(@ 1 :

(b) 2

o3

d 4

e fomm (I N€) W v Y gy i FeE
7 fapol © 6 seATTa ot I fhas fafim wer
g wgfiq foran s whar 2 2

(a 4 :

(b) 6

() 758

@ 12

2 for v 9x fawedi § @ wh fawey @
e o7 fh Tl (_ ) # 39 W@ W Al
Iz Aoft, v fafdre w1 e K |

(a) bababa

(b) baabba

(¢) bbaabb

(d) ababab

IH H ETH 2, 2 3, 3, 3 H W HA

g, 30000 & Ft fohef firm weand &= wehdt

£

(a) 3

(b)) 6

© 9

d 12

fFr=ferfea et w fommr Hifse .

1. 5 SHATT QUiThi T IRTHS 100 & Hehal
2 _

2. dF AR AU H TUHEA IFh
AT % S &l Fohell 2 |

I HYAl A B/ HAE TR R/E 2

(a) a1

(b) e 2

(¢) 13 2eMl

d T@LAE2

68. 1m Y1 I Uh OH1F 9 I § T W g3

69.

70.

(38-A)

2 | 3ud foran fuferelier 5@t @ (a6t A =
T HH) 2

(a)
(b) 10000
(¢) 100000
(d) 1000000

1000

T Ufth ® 6 =3t & | U 31 Afh il I A
3 Afral 8 389 YhR w19 e & 5 a' @
HUNT SAfhdl ¥ B9 T8 oo | @ feaR
i qurer Tl # &1y e o ged # 2

(a)

(c)

3
(b) 4
5
d 6

@WﬁTAB@IC%ﬁEﬁp:q:raﬁ
9T # foafa 1 w8 |
frafafga uat w famm $ifse .

1. 3R p, (q+r) ¥ A &, @ A B
Ffereram 3w firem |

2. AR« (p+q T FAA, A C B FIaW
19 o |

39 HYAl § | FH-AT/PHE TE R/E 2
(a)
(b)
© 1323

(d)
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63. There are three points P, Q and R on a|68.
straight line such that PQ: QR =3 :5. If nis
the number of possible values of PQ : PR, then
what is n equal to ?

(o)1
(b) 2
®©) 24
d 4

64. On a chess board, in how many different ways
can 6 consecutive squares be chosen on the
diagonals along a straight path ?

(a) 4 69.
(b) 6

)-8

d 12

65. In the series _b_a_ba_b_abab_aab; fill in the
six blanks ( _ ) using one of the following given
four choices such that the series follows a
specific order.

(a) bababa
(b) baabba
(¢) bbaabb
(d) ababab

66. Using 2, 2, 3, 3, 3 as digits, how many distinct
numbers greater than 30000 can be formed ? 70.
(a) 3
kb) 6
c) 9
(). <12

67. Consider the following statements :

1.  The sum of 5 consecutive integers can be
100.

2. The product of three consecutive natural
numbers can be equal to their sum.
Which of the above statements is/are

correct ?
(a) 1only
(b) 2only
(c) Both1and2
(d) Neither 1 nor 2
BXC-B-GYLI (39-A)

A cubical vessel of side 1 m is filled completely
with water. How many millilitres of water
is contained in it (neglect thickness of the
vessel) ?

(a) 1000

(b) 10000
(¢c) 100000
(d) 1000000

There are 6 persons arranged in a row.
Another person has to shake hands with 3 of
them so that he should not shake hands with
two consecutive persons. In how many distinct
possible combinations can the handshakes
take place ?

(a) 3
(b) 4
© 5
d 6

An amount of money was distributed among
A,Band Cintheratiop:q:r.

Consider the following statements :

1. A gets the maximum share if p is

greater than (q + r).
2. C gets the minimum share if r is less
than (p + q).
Which of the above statements is/are
correct ?
(a) 1lonly
(b) 2only

(¢c) Both1land?2
(d) Neither 1 nor 2
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Referfea 3 () sreron @ farg g -

79 v 1w 7 wR=Bel #! view ik RS F A9
I T FHEN F I AT | 37 g #F o
NTFH IW FaT 3 IR=Se W & smwika &7
T | |

i |

ey S 7 F A qw gge
% o wm Al (faess Ug) & @adl % Sifew
331d A; 159 varedl H, gooh I arel TaTedt
Rl 4 7 H e @l iR g f @
% ofifia fava & dmet @ @ amn H
tfearfee gft @ <@ @ shwn " i @i @
e A @ F foau I @ R | o
3 fogmen wusR W € | =9 WR ued B/
YT AR Aare, il g9+ %1 Fmfn
& aftE H IYH B H THAT YT R —
3R HETAT 1 s € 98 399 R |

71. Tafafea & @ ®Fa wom 3w ufedg &

qarag ar 2 ?

(a) %&ﬁﬁmmwmsﬁmm
1 G HET BT 2 |

ofafte gart wiedt srfeyaren w1 e
HUT, 918 98 °1 Hea § foeme sk
Bl YT HAUAEHIT 3 |

o9 gegd: e e % fow =8
TEel & @i i & fou IfE B |

FS AN & AEH o 1 FGER & €

(b)

(c)

(d)

Yo 1 IATUR T 2 |
BXC-B-GYLI

(40 -

h go few ol #t Sew, w7 g
e 8 fts @i anft, IR e
FE TId § | g8 9k R gaifie geard
AN HYEd: Wgd §R IEA sied 8, R
ad-fwaes (Rpifes) omee wmn w1 @&an 2,
m%w-mﬁ@mﬁma@m%,éh
HATa Hr1-a93 g g 7

72. 39 UR=ag & yyw W H, fFw fomm w1 gw
fopar man 2 2

HAEF did & HaY § Heufd
HAEF dId & gay | HgHid
T "l & G99 § 3Eenfd

g died | B9 areft 19 % ey |
Fagafd

(a)
(b)
(c)

(d)

73. Frafafea & @ Hl4t sga sr=a @i § sgan

T8 Tt & 2

(a) ¥ 3R 3\ i s e

(b) | I & T A ity wen
(c) el &1 faeameRtor

(d) T H APl feuE

A)
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Directions for the following 3 (three) items :

Read the following two passages and answer the
items that follow. Your answers to these items should
be based on the passages only.

Passage - 1

Medieval merchants risked the hazards of
the Silk Road to reach the markets of China;
Portuguese caravels in the 15" century sailed
beyond the bounds of the known world, searching
less for knowledge than for gold and spices.
Historically, the driver for opening frontiers has
always been the search for resources. Science and
curiosity are weaker drivers. The only way to
open up space, whether the space of solar system
or interstellar space is to create an economic

engine and that engine is resource extraction.

Passage - 2

...... most people would agree that telling
deliberate lies is wrong, except perhaps in certain
special situations where more harm will be done
by telling the truth. Even the most truthful
people probably tell a good many more lies that

might be regarded as semantic lies; their use of

words contains some measure of falsehood, more

or less deliberate.”
72. The idea which the first part of the passage
mentions is
(a) agreement about telling lies.

(b) disagreement about telling lies.

71. Which one of the following statements best (c) disagreement about telling the truth.
sums up the passage given above ?
(d) disagreement about the harm in telling
(a) Wealth generation is the primary motive the truth.
for any human endeavour.
(b)  Space, whether space in solar system or |73, Which one of the following habits is found
interstellar space, will govern our future more often in good people ?
economy.
: (a) Mixing up the true and false
(c) Human beings are motivated to explore
néw frontiers principally by economic (b) :‘n]t.entumal mixing up of truth with the
alse
considerations.
: : (¢) Falsification of facts
(d) Wealth generation is based on the
risk-taking behaviour of some men. (d) Complete concealment of truth
BXC-B-GYLI (41-A)

Downloaded from www.cclchapter.com



74. UH ARG (1§ IRG), AEG IR F W, S

75.

76.

BXC-B-GYLI

AT A Y i & Sfavraar faawor s gwian
2 | 7% foam man @ fo6 W 16% R @t 5@ 70%
2 1 3 iEF q = T T — IHl B
e p% 2, @ goRE H p # FEfm w0
et PrsEe (F9eR) 1 H219 i e 2 2
(a) 54°
(b) 96°
(¢ 108°

(d) 120°

A Fod § goE 54 o7 W 2, 7 v
243 o7 wman R, v g g% o f&m s
2 | 3fg et it foreft foam it oo & fired, @
3 & g Fora § forw fem e 2

(a) @R

(b) HHAR

() TEHfdER
@ e

Ush 2-37%h] dTAl HEAT AT 39 3hl & TAM I
TER 9ed B U B4 drell G H1 HAA
5428 |

fFrafafga st w faar Fifse .

1. 39 G&A1 & QHI bl 1 IS Haa aHt
e ST a1 @ W& N o @
THGA TG &l |

2. 39 TEA % QI 3l & W Al Bl
Frepren s wwaT 2

304 HUE § ¥ B/ T 2/ 2

(a) ad 1

(b) Had 2

(c) 1311'{2%

(d T 1,T82

77. X Y § &, ‘O 59 F @97 ¥ oy

78.

79.

80.

(42-A)

HH qdaE g A g off (7 3R x A

g g 42 9§ B, @ fr=fafes s w

forem Hifs .

1. 8% §d, X il 7Y, Y I g H uiw
T ot |

2. ;ﬁaﬁm,xaﬁm,&*iﬁa@ﬁm

I

IR HeEl § § PHA1/PHE T 2/E 2

(a) %ad 1

(b) had 2

(¢) 13 23M

d T@L,IH2

afg et g & e # 20% B g1 @ 3k R
T H 25% qfg Bt B, T g & e witadw
fepam gan 8 2

(a) 0%

(b) 5%3fg

() 5%7BHE

(d) Ui Afwel & wror Fulfa & e
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74. A pie diagram shows the percentage |77.
distribution of proteins, water and other dry
elements in the human body. Given that
proteins correspond to 16% and water
corresponds to 70%. If both proteins and the
other dry elements correspond to p%, then
what is the central angle of the sector
representing p on the pie diagram ?

(a) b54°
(b) 96°
() 108°
(d 120°

75. Joseph visits the club on every 5h day, Harsh
visits on every 240 day, while Sumit visits on | 78
every 9P day. If all three of them met at the
club on a Sunday, then on which day will all
three of them meet again ?

(a) Monday
(b) Wednesday
(¢) Thursday
(d) Sunday
79.

76. The difference between a 2-digit number and
the number obtained by interchanging the
positions of the digits is 54.

Consider the following statements :

i B The sum of the two digits of the number
can be determined only if the product of
the two digits is known.

2.  The difference between the two digits of | 80.
the number can be determined.

Which of the above statements is/are

correct ?

(a) 1lonly

(b) 2 only

(¢c) Bothland?2

(d) Neither 1 nor 2

BXC-B-GYLI (43-A)

X said to Y, “At the time of your birth I was
twice as old as you are at present.” If the
present age of X is 42 years, then consider the
following statements :

T, 8 years ago, the age of X was five times
the age of Y.

2. After 14 years, the age of X would be two
times the age of Y.

Which of the above statements is/are

correct ?

(a) 1only

(b) 2only

(¢) Both1land2

(d) Neither 1 nor 2

If the price of an article is decreased by 20%
and then the new price is increased by 25%,
then what is the net change in the price ?

(a) 0%

(b) 5% increase

(c) 5% decrease

(d) Cannot be determined due to

insufficient data

When a certain number is multiplied by 7, the
product entirely comprises ones only (1111...).
What is the smallest such number ?

(a) 15713
(b) 15723
(c) 15783
(d) 15873

A man completes 7/8 of a job in 21 days. How
many more days will it take him to finish the
job if quantum of work is further increased by
50% ?

(a) 24
b) 21
(¢) 18
) <15
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